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Section : General English

Q.1 Choose the word that can substitute the given sentence. A
building where an audience sits

Ans X1 Aisle
x 2. Hanger

x 3. Gymnasium

J 4, Auditorium

Question ID : 23908747
Status : Answered
Chosen Option : 4

Select the most appropriate option to fill in the blank. He
his portrait in the main hall.

Ans 1. had hanged

2. hung

( 3. hang
x 4. hanged

< Question ID : 23908734
Status : Answered
Chosen Option : 2

Q.3 Choose the correctly spelt word. AnS
x 1. Anthusiasm

x 2. Enthusiesm
i 3. Enthusiasm

x 4. Entheusiasm

Question ID : 23908749
Status.._Answered
Chosen Option : 3

Q.4 Choose the word that can substitute the given sentence. A
book of names and addresses

Ans X" 1 Diary
“ 2. Directory
x 3. Dictionary

x 4. Journal



https://pdfinbox.com/

Q.5 Select the most appropriate synonym of the given word.
Misfortune

Ans X 1. Benefit

( 2. Calamity
X 3. Support
x 4. Miracle

Q.6 Select the most appropriate synonym of the given word. Capable
Ans ( 1. Competent

2. Conceited
x 3. Complacent
X 4., Consistent

x

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

Mohan is pleased at the news yesterday.

Ans 1. No Improvement

“ 2. was pleased
x 3. had being pleased

X 4. has been pleased

Q.8 Select the most appropriate antonym of the given word. Comic
Ans X1 Tickle

2< 2. Happy
“ 3. Tragic
X 4. Jubilant

Q.9 Select the most appropriate option to substitute the underlined segment in the given

Question ID : 23908748
Status : Answered
Chosen Option : 4

Question ID : 23908741

Status : Answered
Chosen Option : 2

Question ID : 23908742

Status : Answered
Chosen Option : 1

Question ID : 23908732

Status : Answered
Chosen Option : 2

Question ID : 23908744

Status : Answered
Chosen Option : 3




sentence. If there is no need to substitute it, select No Improvement. The
doctor has reassure me that the operation was a routine one.

Ans x 1. No Improvement
“ 2. had reassured me
x 3. is reassured me

x 4. reassure me

Question ID : 23908731
Status : Answered
Chosen Option : 2

Q.10 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Over my dead body
Ans ( 1. Opposing something fiercely

X 2. Inheriting to fortune
x 3. Erecting a grave stone

x 4. Threatening to kill oneself

Question ID : 23908745
Status : Answered
Chosen Option : 1

Q.11 A sentence has been given with a blank to be filled with an appropriate word. Choose the correct
alternative.

The bullet struck a wall and was from its course.
Ans 1. reflected

x 2. twisted
“ 3. deflected
. 4. crashed
~<

Status : Answered
Chosen Option : 2

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
My aunt/sold her boutique/to a billionaire.

Ans X" 1 to a billionaire

x 2. sold her boutique
x 3. My aunt
( 4. No error

Question ID : 23908728
Status : Answered
Chosen Option : 1

Q.13 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

To end in smoke
Ans x 1. Todo one's duty well

x 2. Tonot agree to something




X 3. Tobe the cause of a quarrel

« 4. Tocome to nothing

Question ID : 23908746
Status : Answered
Chosen Option : 3

Q.14 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
All the students/is done/better this year.

Ans X 1. All the students

( 2. is done
X 3. No error

X 4. better this year

Question ID : 23908727

Status : Answered
Chosen Option : 2

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Rakesh is foolish/to said/such things.

Ans 1. to said
2. No error
X 3. such things
X 4. Rakesh is foolish

x

Question ID : 23908729

Status . Answered
Chosen Option : 1

Q.16 Choose the correctly spelt word.
Ans 1. Financialy

V 2. Financially
X 3. Finantially

X 4. Finencially

Question ID : 23908750
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate antonym of the given word.
Inexpensive

Ans “ 1. Dear

X 2. Reasonable

X 3. Popular
X 4. Liberal

Question ID : 23908743
Status : Answered
Chosen Option : 4
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Q.18 Select the most appropriate option to fill in the blank. My
teacher is the of all.

Ans \f 1. kindest
75 2. kind

5 3. kinder
75 4. kindly

Question ID : 23908733
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing a
clean environment (5) will stop the transmission of disease.

SubQuestion No : 19

Q.19 Select the most appropriate option for blank No. 1. Ans
1. relate

2. relation

x 3. related
“ 4. relates

x Question ID : 23908736

Ctat A i
Satus—ANSWeErea

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing a
clean environment (5) will stop the transmission of disease.

SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 2. Ans

J 1. of
x 2. for
75 3. with
x 4.in

Question ID : 23908737
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing a

clean environment (5) will stop the transmission of disease.




SubQuestion No : 21
Q.21 Select the most appropriate option for blank No. 3. Ans

J 1. Preventing
x 2. Hampering
75 3. Prohibiting

X 4. Facilitating

Question ID : 23908738
Status : Answered

Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing a
clean environment (5) will stop the transmission of disease.

SubQuestion No : 22

Q.22 Select the most appropriate option for blank No. 4. Ans
1. ignores

2. paves

x 3. aims
“ 4. directs
x

Question ID : 23908739

Status—Answered

Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Sanitation refers to public health conditions (1) to clean drinking water and adequate
treatment and disposal (2) human waste and sewage. (3) human contact with
faeces is part of sanitation. Sanitation system (4) to protect human health by providing a
clean environment (5) will stop the transmission of disease.

SubQuestion No : 23
Q.23 Select the most appropriate option for blank No. 5. Ans

J 1. that
x 2. who
x 3. whom
x 4. these

Question ID : 23908740

Status : Answered

Chosen Option : 2

Q.24 A sentence has been given with a blank to be filled with an appropriate word. Choose the correct
alternative.
I am of winning the competition.

Ans x 1. resistent

J 2. confident




x 3. pertinent
x 4. reliant

there is no need to substitute it, select No Improvement.
Who can prevent you from getting married now that you are within age?

Ans X1 in
( 2. of

x 3. No Improvement

x 4.0n

Question ID : 23908752
Status : Answered
Chosen Option : 2

Q.25 Select the most appropriate option to substitute the underlined segment in the given sentence. If

Question ID : 23908730
Status : Answered
Chosen Option : 1

Section : General Intelligence & Reasoning
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Question 1D : 239087304
Status : Answered
Chosen Option : 3
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Ans X" 1960398
o 2. 960392
75 3.980392

75 4.960395
Question. 1D 239087287

Status : Answered
Chosen Option : 2
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Question ID : 239087282
Status : Answered
Chosen Option : 1
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9
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Question ID : 239087301
Status : Answered
Chosen nlntinn |
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Question 1D : 239087284
Status : Answered
Chosen Option : 2

Q0 zx s @ YT S A R v et F @ & FEy B FE TR g ¥

Question 1D : 239087305
Status : Answered

Chosen Option : 2

Q7 o v gd0T F ABYWN W @ 1 &, & ARy & 91 ampfay Hr whr ador o # gl
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Question 1D : 239087303

Status T Answered
Chosen Option : 2

Q.8TH § T UINT H”, “TAN’ P 33’ RTT ST @ 3R PAM’ B 28° REET ST & | SU T T UTHT H” ‘BUG’
BT HIS FAT THTT?

Ans X1 3
}( 2.29
v 328
x 4.30

Question ID : 239057288
Status : Answered
Chosen Option : 3

Q.9 7 RTY RAHUUT A A I T“TT B YRTT Wl RTARARE A TAT B #/ (4] (?) b 54T W AT |
43,31, 74, 105, 179, 2

Ans 1.279

\, 2.284

x 320
X 4,263

Question ID : 239087294
Status : Answered
Chosen Option : 3

Q.10 TR G RN, 'x TUT -+ P 3TUH H” Todl T SIIAT @ ol RTARARET 7 T I AT THIHI0 g
WANs X' 1 14+62x13+31=238

o 2 14+9:23x3=83
£ 3.11x12+48+6= 40

/X 4.63+50-4x8=171

Question 1D : 239087299
Status : Answered
Chosen Option : 2

Q.11
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Question 1D : 239087297
Status : Answered
Chosen Option : 4

Q.12 R R RTHUUT A AT AR LHBI YRAT N 3T ARARET A o IATH” #/E R4] (?) B
5YT U ST |

KP, HM, EJ, BG, ?

Ans x 1. XC

JZ. YD
xS. ZE
x4. YC

\{ue‘sﬁUll iD . £9JVOTZ0L
Status : Answered
Chosen Option : 2
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Status : Answered
Chosen Option : 2
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Question 1D : 239087300
Status : Answered

Chosen Option : 4

Q.15T® HT UTHT H”, ‘GREAT’ B ‘ALYUN’ REET 1T 8 | S H& T T RAPID’ HT

Frs FTAPANs  of 1 LUICXK

X 2. SWLEZ

X 3. Lvicx

Question 1D : 239087285
Status : Answered

Chosen Option : 1
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Question 1D : 239087291
Status : Answered
Chosen Option : 1
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I'\nnst_inn 10220087202
Question ID : 7293

Status : Answered
Chosen Option : 4

Q.18 SU N3G Y H BT TIT HtRTY RATP ST 56 AT T I #PR TARYT § R #PR T
T R3¢ GrH PEHT W3S ATTH A7 JARYUA |

JU : AP R
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XZ.W:W
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Question1D~239087283
Status : Answered
Chosen Option : 3
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Question 1D : 239087290
Status : Answered
Chosen Option : 1

Q.20 I RET T HYAT 3R IAP RARPUT B! 3 A YRS | HYAT H” Gt TS PRI I 5T A \T,
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Question TD T 239087292
Status : Answered
Chosen Option : 3

\(UCDﬁUII :D . ZS%UILUU
Status : Answered
Chosen Option : 3

Q.22 RTARTAREA RAHUUT W & I TN B GRAY W RTARARET A Tl 7 Tt a1 & e
A FERYd & RS T A\ a1 Ugelt Adr A Hanua gl

Question 1D : 239087296
Status : Answered
Chosen Option : 2




Question 1D : 239087295
Status : Answered
Chosen Option : 3

Q.24 BB RUI - C,E, G, I, KAYT M P =\ Pt 3R TG HIP TP JUTHR AW & 3¢ -7 3 \TU @ 3 3 Wit
TH -\ A R\ IR g @V 761 3P 3 58 UT A 81| E, C & gRIfi 3R TR\ 55U W g1 K,
G P A qIfi IR W B G TYT | TP \WR Bt TRB MHA-ATHA g RHI \T g1 | & I1fi 3R I Taid
\Q, | 9T M T HeY Reba (A 96> \T§?

Ans  of 1.3
K21
X 30
K42

Question ID : 239087289
Status : Answered
Chosen Option : 3

Q.25 TRT 3P 2 3N 3P 1 H R5UR G d RGN STdT & df RTARARET THIHRT BT HIF FaT
9+46+4x21-5=7
Ans  of 122
2.3
75 329
!

Question 1D : 239087298
Status : Answered
Chosen Option : 1

Section : Numerical Aptitude

QlagfFU+V =280 gurU:V=5:3 % aU-V & A Fae &2
Ans of 120

X215

<3 30

<225

Question 1D : 239087417
Status : Answered
Chosen Option : 1

Q2 A=§ azrri T Agcadd FATIESS (TT & TH)
B =2 @l — & Agcad FAMEaH (T & TH)

5

A + B & AT fhaar g2
xl.zso

01
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Question ID : 239087406

Status : Answered

Chosen Option : 3

Q3 e awg # 25% oM T 37.5% @ W a9 ¥ T oW F W 21250 ¥ T T 12.5% e
TR FI AT § A sTF T qew e gem?

Ans X 131800
< 232500
X 3 32400
v 1 32250

Question ID : 239087414

Status : Answered

Chosen Option : 4

%% 49, 62, 37, 55 TT x FT AT 53 ¥ x FT T aaT 2
10

X" 68

X' 76

v 62

Question ID : 239087409

Status : Answered

Chosen Option : 4

Q5 #rr Rar a7 3e5-3NW, BF O30T FEAAAT @R T FET F Yeed SuerT A TEA A,
ST FT T TEAN F Fowd F 79 A @A Bl Ied-3mE F TGl Fa wor e wwfaa S e F

FTAR L g
C1
C6, :
1% 12%

\& [g>

4% | C3,

18%

Ans = X ch 51.7° dueit 3 5 S0 A7 (@ueT & v T 7 S R T
X 2 451°

v 3 39.6°
X 4. 52.8°

Question 1D : 239087430

Status : Ans d
: wered




l Chosen Option : 3 J

Q6 e avg #7 3ifa HEa 12500 §1 3@ FAU: 12% A 10% Fr a7 HAs gl | 9= v g1 e
o faaem 82

Ans - X 121870
X 2 32090
X 3 21760
v 1 31980

Question D= 239087411
Status : Answered
Chosen Option : 4

Q7 zmger a7 dawr gAa & o ¥ 112000 3w §1 AR 3w Ao G F a7 F 3qIA 7 : 4§, A
g &1 3= o &2

Ans o 1216000
X 2212000

X % 218000
i 4.
X 220000

Ou 1on-1D.-.2200R741.8
Quest :

Status : Answered
Chosen Option : 1

¥ 7+2-[30f7+4+{(2+5) % (25+8)+ (5+2)}]

FT AT e &2
B

2.
Y.7

X4 9

Ans

Question1D..-239087408
Status : Answered ]

Chosen Option : 2

Q% DD.MM F & # af&a, a¥ 2019 Fr afegw-Yr @ftww ) &
Ans - X 1.01.07

X 2 30.06

V'3 02.07

X 4 03.07

Status : Answered
Chosen Option : 1

Question ID : 239087412 ]

.
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Q.14

X 150
V23
<312
X6

mqmusso A &, aF 3HH I FhaeT &7
# 1 76000

# 2. 35000
v 3 36500
# 4 35500

arF fraer gfr a7 FeEh?
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v 12 km

¥
<110 cm
V28 cm
<39 cm
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Q10 v w6 fAme # 300 Hex F gf TF FX T g1 3WH Jitwa Ay km/h F e 22

Question 1D : 239087423
Status : Answered
Chosen Option : 2

Qll wF zafeg 39 daa1 &7 10% SieTe R T FT &1 I8 AT 9 &7 20% SuaT R G &ar &1 I

Question ID : 239087413
Status : Answered
Chosen Option : 3

Q12 ofig et 3 wer A @ A 8 kmvh F1 TR O Fr AT 2 kmih §, A O F Hfage S g 2w H

Question 1D : 239087424

Status : Answered
Chosen Option : 4

Q13 e warurgslsr #r TRAT 20 cm ¥ 3% Tk Rl Fr w6 em ¥ gEY Rt Hr wE$ fha

Question 1D : 239087426
Status : Answered
Chosen Option : 2
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Question 1D : 239087428
Status : Answered
Chosen Option : 2

Q15 i =ufda 2 ast % frw 2500, 5 asf & T 2600 T 6 Iuf & T 21000 T ' WUROT eaT=r Hr
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X 2 31475

Question 1D : 239087419

Status : Answered
Chosen Option : 3

Q.16 g @ ¥ Rt & 3itHa 51X 20 g Wi e &1 =08 F 12 et 77 siiwg 97 35 g 9 = &

Question 1D : 239087410
Status : Answered
Chosen Option : 2

Q17 fordhr awg Fr 15% oer oX 21725 & =1 e ¥ IR S 15% # @fey T &= oew ¥ o Fmw qow
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Question 1D : 239087415
Status : Answered
Chosen Option : 1

Q1 (n—gé'r)
T T Y ST 6 om §1 T & e TN AT O F e F AT bt 32\ 7
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Question ID : 239087425

Status : Answered
Chosen Option : 1

QY Aspar FN s AV AT R TFT L IBsFar s s 0 RAF T o &1 T A T

YRHTT T ¥ THR el (3oeteie 39) # &1 w3 &, & & fraw A F (gewer & o wum=t
TF) T g ATI?

1.

34.25

a 2.
x3 32.33
X, 16.33

X 17.25

Question 1D : 239087422

Status : Answered
Chosen Option : 1

Q20 zfx a1 afyr wwafy et (AfF TASE) H TAW a7 ¥ & I§ e 24000 T IR I Tead
6000 g S &, & AR fraer 27

Ans X1 22888.88
v 2 32666.66
X 5 32777.77
X 4. 32866.66

Question 1D : 239087420
Status : Not Answered
Chosen Option : --

" tor )+ (2-3) xi+ dom o e 17

4 3

v i
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Question 1D : 239087407
Status : Answered
Chosen Option : 1

Q22 A Fer B faerey Rrdl & @ 20 R F X @ea §1 B a1 C B 38 & #7125 Ra & & a9
g1 C T A BoeR 38 FF A 15 G F o Tha §1 A 35T 30 FF F Faa A F = FqFHar
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/5 3. 1200

23
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600

Question 1D : 239087421

Status : Answered
Chosen Option : 2

Q.23 i R /T Ira-3MY, OF -3 FEAAT SR R FHiew F Yoo duerT # FE w7,
JErEl Fr FoT TEAT F FAUd F T F AT ¥l Jea-3NG A TG F Fo7 e wwfem e &
AR 7 g

C1,

o9 12%

11

Ans = X i 3QD it S o FEar 3800 ¥ & U C2 @ C5 & dAveit & FEwr #F e fhaw 2

X 2 362
v 3 342
X 4 322

Question 1D : 239087429
Status—.Answered

Chosen Option : 3

Q24 faehr wremet o oS, e 3T S o 15 cm, 12 cm @ 11 cm ¥ oA @ 62 % wer R
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